Specification
A T Pos. Type DIN Pcs.
3 260 PARBAUDITS Plate 60x20x3 M6 1
- »H—i 2017.07.07. 1 M6x10 7380-A2 1
M6 washer 125-A2 | 1
,ﬂ_ . Plate 30x20x4 M6 1
Calibrated top 2 M6x10 7380-A2| 1
S2 M6 washer 125-A2 | 1
3 |M8 welded washer| 9021 4
4 Plate 25x16x3 1
Det. B
Scale 1:10
8 Triangle
——|B (D‘LQ B-B key
Q I /\;\ o E ’&mi 7
A 7 o))
s1 0 10
3\
M10
o
o
o Q
L{O) o
< 3 \
+ ot hy
8* {/ Qo5 1
B
Aﬁ A . A-A
i 7~ 60
Te}
N~
3 >
o
<t
\_/| \ Det. B \(
o
ITo}
©
o
9
—
.
o
o
Te}
114
Owner: : Title: Sect.. @: Steel: Thickness:
M CCNOPAL Tecnopali CP 4500 s1 S235JR 3.0
NQRTH EUROPE |Drawn by: L.Simanis S2 60 S235JR 3.0
"Vecratnieki" Daugmales pagasts,
Kekava novads, LV-2124, Latvija : . . .
Phone +371 67148855 : Checked by M.Simanis ltem no CP4500-60-114c
Fax +371 67148866
E-Mail sales@tecnopali.lv Rev.: Date: Sc.: Weight.: Galvanized.:
www.tecnopali.lv 2 050717 120 27 kg EN 1461



Admin
Tecnopali




